

TWO POINTS TAYLOR'S TYPE REPRESENTATIONS WITH INTEGRAL REMAINDERS

S. S. DRAGOMIR^{1,2}

ABSTRACT. In this paper we establish some two points Taylor's type representations with integral remainders and apply them for the logarithmic and exponential functions. Some inequalities for weighted arithmetic and geometric means are provided as well.

1. INTRODUCTION

The following theorem is well known in the literature as Taylor's formula or Taylor's theorem with the integral remainder.

Theorem 1. *Let $I \subset \mathbb{R}$ be a closed interval, $c \in I$ and let n be a positive integer. If $f : I \rightarrow \mathbb{C}$ is such that the n -derivative $f^{(n)}$ is absolutely continuous on I , then for each $y \in I$*

$$(1.1) \quad f(y) = T_n(f; c, y) + R_n(f; c, y),$$

where $T_n(f; c, y)$ is Taylor's polynomial, i.e.,

$$(1.2) \quad T_n(f; c, y) := \sum_{k=0}^n \frac{(y-c)^k}{k!} f^{(k)}(c).$$

Note that $f^{(0)} := f$ and $0! := 1$ and the remainder is given by

$$(1.3) \quad R_n(f; c, y) := \frac{1}{n!} \int_c^y (y-t)^n f^{(n+1)}(t) dt.$$

A simple proof of this theorem can be achieved by mathematical induction using the integration by parts formula in the Lebesgue integral.

For related results, see [1]-[5], [11]-[14], [18]-[19] and [22].

Let $a, b > 0$, then we have the equality:

$$(1.4) \quad \ln b - \ln a = \sum_{k=1}^n \frac{(-1)^{k-1} (b-a)^k}{ka^k} + (-1)^n \int_a^b \frac{(b-t)^n}{t^{n+1}} dt, \quad n \geq 1.$$

Indeed, if we consider the function $f : (0, \infty) \rightarrow \mathbb{R}$, $f(x) = \ln x$, then,

$$f^{(n)}(x) = \frac{(-1)^{n-1} (n-1)!}{x^n}, \quad n \geq 1, \quad x > 0,$$

$$T_n(\ln; a, x) = \ln a + \sum_{k=1}^n \frac{(-1)^{k-1} (x-a)^k}{ka^k}, \quad a > 0$$

1991 *Mathematics Subject Classification.* 26D15; 26D10.

Key words and phrases. Taylor's formula, Power series, Logarithmic and exponential functions, Weighted arithmetic and geometric means, Inequalities.

and

$$R_n(\ln; a, x) = (-1)^n \int_a^x \frac{(x-t)^n}{t^{n+1}} dt.$$

Now, using (1.1), we have the equality,

$$\ln x = \ln a + \sum_{k=1}^n \frac{(-1)^{k-1} (x-a)^k}{ka^k} + (-1)^n \int_a^x \frac{(x-t)^n}{t^{n+1}} dt.$$

Choosing in the last equality $x = b$, we get (1.4).

Consider the function $f : \mathbb{R} \rightarrow (0, \infty)$, $f(y) = \exp y$. Then for any $c \in \mathbb{R}$ we have

$$T_n(\exp; c, y) = \sum_{k=0}^n \frac{(y-c)^k}{k!} \exp c$$

and

$$R_n(\exp; c, y) := \frac{1}{n!} \int_c^y (y-t)^n \exp t dt.$$

On applying Taylor's formula (1.1) we have

$$(1.5) \quad \exp y - \exp c - \sum_{k=1}^n \frac{(y-c)^k}{k!} \exp c = \frac{1}{n!} \int_c^y (y-t)^n \exp t dt$$

for any $c, y \in \mathbb{R}$.

If we take $y = \ln x$, $c = \ln a$ where $x, a > 0$ then we get

$$x - a - a \sum_{k=1}^n \frac{(\ln x - \ln a)^k}{k!} = \frac{1}{n!} \int_{\ln a}^{\ln x} (\ln x - t)^n \exp t dt.$$

By using the change of variable, $s = \exp t$, we have

$$\int_{\ln a}^{\ln x} (\ln x - t)^n \exp t dt = \int_a^x (\ln x - \ln s)^n ds$$

giving that

$$(1.6) \quad b - a - a \sum_{k=1}^n \frac{(\ln b - \ln a)^k}{k!} = \frac{1}{n!} \int_a^b (\ln b - \ln s)^n ds,$$

for any $b, a > 0$.

Now, if $n \geq 2$ then by (1.6) we have

$$\frac{b-a}{a} - \sum_{k=1}^n \frac{(\ln b - \ln a)^k}{k!} = \frac{1}{n!a} \int_a^b (\ln b - \ln s)^n ds,$$

namely

$$(1.7) \quad \ln b - \ln a = \frac{b-a}{a} - \sum_{k=2}^n \frac{(\ln b - \ln a)^k}{k!} - \frac{1}{n!a} \int_a^b (\ln b - \ln s)^n ds,$$

for any $b, a > 0$.

By taking in (1.4) and (1.7) $n = 2m+1$, we get the following equalities of interest

$$(1.8) \quad \ln b - \ln a = \sum_{k=1}^{2m+1} \frac{(-1)^{k-1} (b-a)^k}{ka^k} - \int_a^b \frac{(b-t)^{2m+1}}{t^{2m+2}} dt, \quad m \geq 0$$

and

$$(1.9) \quad \begin{aligned} & \ln b - \ln a \\ &= \frac{b-a}{a} - \sum_{k=2}^{2m+1} \frac{(\ln b - \ln a)^k}{k!} - \frac{1}{(2m+1)!a} \int_a^b (\ln b - \ln s)^{2m+1} ds, \quad m \geq 1. \end{aligned}$$

Since for any $a, b > 0$

$$\int_a^b \frac{(b-t)^{2m+1}}{t^{2m+2}} dt \geq 0 \quad \text{and} \quad \int_a^b (\ln b - \ln s)^{2m+1} ds \geq 0,$$

then we have from (1.8) that

$$(1.10) \quad \ln b - \ln a \leq \frac{b-a}{a} + \sum_{k=2}^{2m+1} \frac{(-1)^{k-1} (b-a)^k}{ka^k}, \quad m \geq 1$$

and from (1.9) that

$$(1.11) \quad \ln b - \ln a \leq \frac{b-a}{a} - \sum_{k=2}^{2m+1} \frac{(\ln b - \ln a)^k}{k!}, \quad m \geq 1.$$

The case $m = 1$ provides the following inequalities

$$(1.12) \quad \ln b - \ln a \leq \frac{b-a}{a} - \frac{(b-a)^2}{2a^2} + \frac{(b-a)^3}{3a^3}$$

and

$$(1.13) \quad \ln b - \ln a \leq \frac{b-a}{a} - \frac{(\ln b - \ln a)^2}{2} - \frac{(\ln b - \ln a)^3}{6}$$

for any $a, b > 0$.

Now, if $0 < a < b$ then by (1.7) we have

$$(1.14) \quad \ln b - \ln a \leq \frac{b-a}{a} - \sum_{k=2}^n \frac{(\ln b - \ln a)^k}{k!}$$

for any $n \geq 2$.

If $0 < a < b$ and $n = 2m$, then by (1.4) we have

$$(1.15) \quad \ln b - \ln a \geq \sum_{k=1}^{2m} \frac{(-1)^{k-1} (b-a)^k}{ka^k}, \quad m \geq 1$$

while in the case $n = 2m + 1$ we have

$$(1.16) \quad \ln b - \ln a \leq \sum_{k=1}^{2m+1} \frac{(-1)^{k-1} (b-a)^k}{ka^k}, \quad m \geq 0.$$

In this paper we establish some two points Taylor's type representations with integral remainders and apply them for the logarithmic and exponential functions. Some inequalities for weighted arithmetic and geometric means are provided as well.

2. SOME TWO POINTS IDENTITIES

The following identity can be stated:

Theorem 2. *Let $f : I \rightarrow \mathbb{C}$ be n -time differentiable function on the interior \hat{I} of the interval I and $f^{(n)}$, with $n \geq 1$, be locally absolutely continuous on \hat{I} . Then for each distinct $x, a, b \in \hat{I}$ and for any $\lambda \in \mathbb{R} \setminus \{0, 1\}$ we have the representation*

$$(2.1) \quad \begin{aligned} f(x) &= (1 - \lambda) f(a) + \lambda f(b) \\ &+ \sum_{k=1}^n \frac{1}{k!} \left[(1 - \lambda) f^{(k)}(a) (x - a)^k + (-1)^k \lambda f^{(k)}(b) (b - x)^k \right] \\ &+ S_{n,\lambda}(x, a, b), \end{aligned}$$

where the remainder $S_{n,\lambda}(x, a, b)$ is given by

$$(2.2) \quad \begin{aligned} S_{n,\lambda}(x, a, b) &:= \frac{1}{n!} \left[(1 - \lambda) (x - a)^{n+1} \int_0^1 f^{(n+1)}((1 - s)a + sx) (1 - s)^n ds \right. \\ &\left. + (-1)^{n+1} \lambda (b - x)^{n+1} \int_0^1 f^{(n+1)}((1 - s)x + sb) s^n ds \right]. \end{aligned}$$

Proof. Using Taylor's representation with the integral remainder (1.1) we can write the following two identities

$$(2.3) \quad f(x) = \sum_{k=0}^n \frac{1}{k!} f^{(k)}(a) (x - a)^k + \frac{1}{n!} \int_a^x f^{(n+1)}(t) (x - t)^n dt$$

and

$$(2.4) \quad f(x) = \sum_{k=0}^n \frac{(-1)^k}{k!} f^{(k)}(b) (b - x)^k + \frac{(-1)^{n+1}}{n!} \int_x^b f^{(n+1)}(t) (t - x)^n dt$$

for any $x, a, b \in \hat{I}$.

For any integrable function h on an interval and any distinct numbers c, d in that interval, we have, by the change of variable $t = (1 - s)c + sd$, $s \in [0, 1]$ that

$$\int_c^d h(t) dt = (d - c) \int_0^1 h((1 - s)c + sd) ds.$$

Therefore,

$$\begin{aligned} &\int_a^x f^{(n+1)}(t) (x - t)^n dt \\ &= (x - a) \int_0^1 f^{(n+1)}((1 - s)a + sx) (x - (1 - s)a - sx)^n ds \\ &= (x - a)^{n+1} \int_0^1 f^{(n+1)}((1 - s)a + sx) (1 - s)^n ds \end{aligned}$$

and

$$\begin{aligned} & \int_x^b f^{(n+1)}(t) (t-x)^n dt \\ &= (b-x) \int_0^1 f^{(n+1)}((1-s)x+sb) ((1-s)x+sb-x)^n ds \\ &= (b-x)^{n+1} \int_0^1 f^{(n+1)}((1-s)x+sb) s^n ds. \end{aligned}$$

The identities (2.3) and (2.4) can then be written as

$$(2.5) \quad \begin{aligned} f(x) &= \sum_{k=0}^n \frac{1}{k!} f^{(k)}(a) (x-a)^k \\ &+ \frac{1}{n!} (x-a)^{n+1} \int_0^1 f^{(n+1)}((1-s)a+sx) (1-s)^n ds \end{aligned}$$

and

$$(2.6) \quad \begin{aligned} f(x) &= \sum_{k=0}^n \frac{(-1)^k}{k!} f^{(k)}(b) (b-x)^k \\ &+ (-1)^{n+1} \frac{(b-x)^{n+1}}{n!} \int_0^1 f^{(n+1)}((1-s)x+sb) s^n ds. \end{aligned}$$

Now, if we multiply (2.5) with $1-\lambda$ and (2.6) with λ and add the resulting equalities, a simple calculation yields the desired identity (2.1). \square

Remark 1. If we take in (2.1) $x = \frac{a+b}{2}$, with $a, b \in \mathring{I}$, then we have for any $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(2.7) \quad \begin{aligned} f\left(\frac{a+b}{2}\right) &= (1-\lambda) f(a) + \lambda f(b) \\ &+ \sum_{k=1}^n \frac{1}{2^k k!} \left[(1-\lambda) f^{(k)}(a) + (-1)^k \lambda f^{(k)}(b) \right] (b-a)^k \\ &+ \tilde{S}_{n,\lambda}(a, b), \end{aligned}$$

where the remainder $\tilde{S}_{n,\lambda}(a, b)$ is given by

$$(2.8) \quad \begin{aligned} & \tilde{S}_{n,\lambda}(a, b) \\ &:= \frac{1}{2^{n+1} n!} (b-a)^{n+1} \left[(1-\lambda) \int_0^1 f^{(n+1)}\left((1-s)a + s\frac{a+b}{2}\right) (1-s)^n ds \right. \\ & \left. + (-1)^{n+1} \lambda \int_0^1 f^{(n+1)}\left((1-s)\frac{a+b}{2} + sb\right) s^n ds \right]. \end{aligned}$$

In particular, for $\lambda = \frac{1}{2}$ we have

$$(2.9) \quad \begin{aligned} f\left(\frac{a+b}{2}\right) &= \frac{f(a) + f(b)}{2} \\ &+ \sum_{k=1}^n \frac{1}{2^{k+1} k!} \left[f^{(k)}(a) + (-1)^k f^{(k)}(b) \right] (b-a)^k \\ &+ \tilde{S}_n(a, b), \end{aligned}$$

where the remainder $\tilde{S}_n(a, b)$ is given by

$$(2.10) \quad \begin{aligned} \tilde{S}_n(a, b) &:= \frac{1}{2^{n+2}n!} (b-a)^{n+1} \left[\int_0^1 f^{(n+1)} \left((1-s)a + s \frac{a+b}{2} \right) (1-s)^n ds \right. \\ &\quad \left. + (-1)^{n+1} \int_0^1 f^{(n+1)} \left((1-s) \frac{a+b}{2} + sb \right) s^n ds \right]. \end{aligned}$$

Corollary 1. *With the assumptions in Theorem 2 we have for each distinct $x, a, b \in \dot{I}$*

$$(2.11) \quad \begin{aligned} f(x) &= \frac{1}{b-a} [(b-x)f(a) + (x-a)f(b)] + \frac{(b-x)(x-a)}{b-a} \\ &\quad \times \sum_{k=1}^n \frac{1}{k!} \left\{ (x-a)^{k-1} f^{(k)}(a) + (-1)^k (b-x)^{k-1} f^{(k)}(b) \right\} \\ &\quad + L_n(x, a, b), \end{aligned}$$

where

$$\begin{aligned} L_n(x, a, b) &:= \frac{(b-x)(x-a)}{n!(b-a)} \left[(x-a)^n \int_0^1 f^{(n+1)}((1-s)a + sx) (1-s)^n ds \right. \\ &\quad \left. + (-1)^{n+1} (b-x)^n \int_0^1 f^{(n+1)}((1-s)x + sb) s^n ds \right] \end{aligned}$$

and

$$(2.12) \quad \begin{aligned} f(x) &= \frac{1}{b-a} [(x-a)f(a) + (b-x)f(b)] \\ &\quad + \frac{1}{b-a} \sum_{k=1}^n \frac{1}{k!} \left\{ (x-a)^{k+1} f^{(k)}(a) + (-1)^k (b-x)^{k+1} f^{(k)}(b) \right\} \\ &\quad + P_n(x, a, b), \end{aligned}$$

where

$$\begin{aligned} P_n(x, a, b) &:= \frac{1}{n!(b-a)} \left[(x-a)^{n+2} \int_0^1 f^{(n+1)}((1-s)a + sx) (1-s)^n ds \right. \\ &\quad \left. + (-1)^{n+1} (b-x)^{n+2} \int_0^1 f^{(n+1)}((1-s)x + sb) s^n ds \right], \end{aligned}$$

respectively.

The proof is obvious. Choose $\lambda = (x-a)/(b-a)$ and $\lambda = (b-x)/(b-a)$, respectively, in Theorem 2. The details are omitted.

Corollary 2. *With the assumption in Theorem 2 we have for each $\lambda \in [0, 1]$ and any distinct $a, b \in \dot{I}$ that*

$$(2.13) \quad \begin{aligned} f((1-\lambda)a + \lambda b) &= (1-\lambda)f(a) + \lambda f(b) + \lambda(1-\lambda) \\ &\quad \times \sum_{k=1}^n \frac{1}{k!} \left[\lambda^{k-1} f^{(k)}(a) + (-1)^k (1-\lambda)^{k-1} f^{(k)}(b) \right] (b-a)^k + S_{n,\lambda}(a, b), \end{aligned}$$

where the remainder $S_{n,\lambda}(a, b)$ is given by

$$(2.14) \quad S_{n,\lambda}(a, b) := \frac{1}{n!} (1-\lambda) \lambda (b-a)^{n+1} \left[\lambda^n \int_0^1 f^{(n+1)}((1-s\lambda)a + s\lambda b) (1-s)^n ds \right. \\ \left. + (-1)^{n+1} (1-\lambda)^n \int_0^1 f^{(n+1)}((1-s-\lambda+s\lambda)a + (\lambda+s-s\lambda)b) s^n ds \right].$$

We also have

$$(2.15) \quad f((1-\lambda)b + \lambda a) = (1-\lambda)f(a) + \lambda f(b) \\ + \sum_{k=1}^n \frac{1}{k!} \left[(1-\lambda)^{k+1} f^{(k)}(a) + (-1)^k \lambda^{k+1} f^{(k)}(b) \right] (b-a)^k + P_{n,\lambda}(a, b),$$

where the remainder $P_{n,\lambda}(a, b)$ is given by

$$(2.16) \quad P_{n,\lambda}(a, b) := \frac{1}{n!} (b-a)^{n+1} \left[(1-\lambda)^{n+2} \int_0^1 f^{(n+1)}((1-s+\lambda s)a + (1-\lambda)sb) (1-s)^n ds \right. \\ \left. + (-1)^{n+1} \lambda^{n+2} \int_0^1 f^{(n+1)}((1-s)\lambda a + (1-\lambda+\lambda s)b) s^n ds \right].$$

The case $n = 0$, namely when the function f is locally absolutely continuous on $\overset{\circ}{I}$ with the derivative f' existing almost everywhere in $\overset{\circ}{I}$ is important and produces the following simple identities for each distinct $x, a, b \in \overset{\circ}{I}$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$

$$(2.17) \quad f(x) = (1-\lambda)f(a) + \lambda f(b) + S_\lambda(x, a, b),$$

where the remainder $S_\lambda(x, a, b)$ is given by

$$(2.18) \quad S_\lambda(x, a, b) := (1-\lambda)(x-a) \int_0^1 f'((1-s)a + sx) ds \\ - \lambda(b-x) \int_0^1 f'((1-s)x + sb) ds.$$

We then have for each distinct $x, a, b \in \overset{\circ}{I}$

$$(2.19) \quad f(x) = \frac{1}{b-a} [(b-x)f(a) + (x-a)f(b)] + L(x, a, b),$$

where

$$(2.20) \quad L(x, a, b) := \frac{(b-x)(x-a)}{b-a} \left[\int_0^1 f'((1-s)a + sx) ds - \int_0^1 f'((1-s)x + sb) ds \right]$$

and

$$(2.21) \quad f(x) = \frac{1}{b-a} [(x-a)f(a) + (b-x)f(b)] + P(x, a, b),$$

where

$$(2.22) \quad P(x, a, b) := \frac{1}{b-a} \left[(x-a)^2 \int_0^1 f'((1-s)a+sx) ds - (b-x)^2 \int_0^1 f'((1-s)x+sb) ds \right].$$

We also have

$$(2.23) \quad f((1-\lambda)a+\lambda b) = (1-\lambda)f(a) + \lambda f(b) + S_\lambda(a, b),$$

where the remainder $S_\lambda(a, b)$ is given by

$$(2.24) \quad S_\lambda(a, b) := (1-\lambda)\lambda(b-a) \left[\int_0^1 f'((1-s\lambda)a+s\lambda b) ds - \int_0^1 f'((1-s-\lambda+s\lambda)a+(\lambda+s-s\lambda)b) ds \right]$$

and

$$(2.25) \quad f((1-\lambda)b+\lambda a) = (1-\lambda)f(a) + \lambda f(b) + P_\lambda(a, b),$$

where the remainder $P_\lambda(a, b)$ is given by

$$(2.26) \quad P_\lambda(a, b) := (b-a) \left[(1-\lambda)^2 \int_0^1 f'((1-s+\lambda s)a+(1-\lambda)sb) ds - \lambda^2 \int_0^1 f'((1-s)\lambda a+(1-\lambda+\lambda s)b) ds \right].$$

Moreover, if we take in (2.17) $x = \frac{a+b}{2}$ for each distinct $a, b \in \hat{I}$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$, then we have

$$(2.27) \quad f\left(\frac{a+b}{2}\right) = (1-\lambda)f(a) + \lambda f(b) + S_\lambda(a, b),$$

where the remainder $S_\lambda(a, b)$ is given by

$$(2.28) \quad S_\lambda(a, b) := \frac{1}{2}(b-a) \times \left[(1-\lambda) \int_0^1 f' \left((1-s)a + s \frac{a+b}{2} \right) ds - \lambda \int_0^1 f' \left((1-s) \frac{a+b}{2} + sb \right) ds \right].$$

In particular, for $\lambda = \frac{1}{2}$ we have

$$(2.29) \quad f\left(\frac{a+b}{2}\right) = \frac{f(a)+f(b)}{2} + S(a, b),$$

where

$$(2.30) \quad S(a, b) := \frac{1}{4}(b-a) \times \left[\int_0^1 f' \left((1-s)a + s \frac{a+b}{2} \right) ds - \int_0^1 f' \left((1-s) \frac{a+b}{2} + sb \right) ds \right].$$

3. EXAMPLES FOR LOGARITHM AND EXPONENTIAL

Consider the function $f : (0, \infty) \longrightarrow \mathbb{R}$, $f(x) = \ln x$, then,

$$(3.1) \quad f^{(n)}(x) = \frac{(-1)^{n-1} (n-1)!}{x^n}, \quad n \geq 1, \quad x > 0.$$

Using the identity (2.1) for this function we get for any $x, a, b > 0$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(3.2) \quad \begin{aligned} \ln x &= (1 - \lambda) \ln a + \lambda \ln b \\ &+ \sum_{k=1}^n \frac{1}{k} \left[(-1)^{k-1} (1 - \lambda) \left(\frac{x}{a} - 1 \right)^k - \lambda \left(1 - \frac{x}{b} \right)^k \right] \\ &+ U_{n,\lambda}(x, a, b), \end{aligned}$$

where the remainder $U_{n,\lambda}(x, a, b)$ is given by

$$(3.3) \quad \begin{aligned} U_{n,\lambda}(x, a, b) &:= \left[(-1)^n (1 - \lambda) (x - a)^{n+1} \int_0^1 \frac{(1-s)^n}{((1-s)a + sx)^n} ds \right. \\ &\left. - \lambda (b - x)^{n+1} \int_0^1 \frac{s^n}{((1-s)x + sb)^n} ds \right]. \end{aligned}$$

Using the identity (2.7) for the function $f : (0, \infty) \longrightarrow \mathbb{R}$, $f(x) = \ln x$, then

$$(3.4) \quad \begin{aligned} \ln \left(\frac{a+b}{2} \right) &= (1 - \lambda) \ln a + \lambda \ln b \\ &+ \sum_{k=1}^n \frac{1}{2^k k} \left[(-1)^{k-1} \frac{1 - \lambda}{a^k} - \frac{\lambda}{b^k} \right] (b - a)^k \\ &+ U_{n,\lambda}(a, b), \end{aligned}$$

where the remainder $U_{n,\lambda}(a, b)$ is given by

$$(3.5) \quad \begin{aligned} U_{n,\lambda}(a, b) &:= \frac{1}{2^{n+1}} (b - a)^{n+1} \left[(1 - \lambda) \int_0^1 \frac{(-1)^n (1-s)^n}{((1-s)a + s\frac{a+b}{2})^{n+1}} ds \right. \\ &\left. - \lambda \int_0^1 \frac{s^n}{((1-s)\frac{a+b}{2} + sb)^{n+1}} ds \right]. \end{aligned}$$

In particular, for $\lambda = \frac{1}{2}$, we have for all $a, b > 0$ that

$$(3.6) \quad \begin{aligned} \ln \left(\frac{a+b}{2} \right) &= \frac{\ln a + \ln b}{2} \\ &+ \sum_{k=1}^n \frac{1}{2^{k+1} k} \left[\frac{(-1)^{k-1}}{a^k} - \frac{1}{b^k} \right] (b - a)^k + U_n(a, b), \end{aligned}$$

where the remainder $U_{n,\lambda}(a, b)$ is given by

$$(3.7) \quad \begin{aligned} U_n(a, b) &:= \frac{1}{2^{n+2}} (b-a)^{n+1} \\ &\times \left[\int_0^1 \frac{(-1)^n (1-s)^n}{((1-s)a + s\frac{a+b}{2})^{n+1}} ds - \int_0^1 \frac{s^n}{((1-s)\frac{a+b}{2} + sb)^{n+1}} ds \right]. \end{aligned}$$

From (2.13) we have for any $a, b > 0$ and $\lambda \in [0, 1]$ that

$$(3.8) \quad \begin{aligned} 0 &\leq \ln \left(\frac{(1-\lambda)a + \lambda b}{a^{1-\lambda} b^\lambda} \right) \\ &= \lambda(1-\lambda) \sum_{k=1}^n \frac{1}{k} \left[\frac{(-1)^{k-1} \lambda^{k-1}}{a^k} - \frac{(1-\lambda)^{k-1}}{b^k} \right] (b-a)^k \\ &\quad + U_{n,\lambda}(a, b), \end{aligned}$$

where the remainder $U_{n,\lambda}(a, b)$ is given by

$$(3.9) \quad \begin{aligned} U_{n,\lambda}(a, b) &:= (1-\lambda)\lambda(b-a)^{n+1} \left[\lambda^n \int_0^1 \frac{(-1)^n (1-s)^n}{((1-s\lambda)a + s\lambda b)^{n+1}} ds \right. \\ &\quad \left. - (1-\lambda)^n \int_0^1 \frac{s^n}{((1-s-\lambda+s\lambda)a + (\lambda+s-s\lambda)b)^{n+1}} ds \right]. \end{aligned}$$

Consider the function $f: \mathbb{R} \rightarrow (0, \infty)$, $f(y) = \exp y$, then,

$$(3.10) \quad f^{(n)}(y) = \exp y, \quad n \geq 1, \quad x > 0.$$

If we write the equality (2.1) for this function we get for any $y, c, d \in \mathbb{R}$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(3.11) \quad \begin{aligned} \exp y &= (1-\lambda) \exp c + \lambda \exp d \\ &\quad + \sum_{k=1}^n \frac{1}{k!} \left[(1-\lambda)(y-c)^k \exp c + (-1)^k \lambda (d-y)^k \exp d \right] \\ &\quad + R_{n,\lambda}(y, c, d), \end{aligned}$$

where the remainder $R_{n,\lambda}(y, c, d)$ is given by

$$(3.12) \quad \begin{aligned} R_{n,\lambda}(y, c, d) &:= \frac{1}{n!} \left[(1-\lambda)(y-c)^{n+1} \int_0^1 (1-s)^n \exp((1-s)c + sy) ds \right. \\ &\quad \left. + (-1)^{n+1} \lambda (d-y)^{n+1} \int_0^1 s^n \exp((1-s)y + sd) ds \right]. \end{aligned}$$

Let $x, a, b > 0$. If we take in (3.11) and (3.12) $y = \ln x$, $c = \ln a$ and $d = \ln b$, then we get for any $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(3.13) \quad \begin{aligned} x &= (1 - \lambda) a + \lambda b \\ &+ \sum_{k=1}^n \frac{1}{k!} \left[(1 - \lambda) a (\ln x - \ln a)^k + (-1)^k \lambda b (\ln b - \ln x)^k \right] \\ &+ R_{n,\lambda}(x, a, b), \end{aligned}$$

where the remainder $R_{n,\lambda}(x, a, b)$ is given by

$$(3.14) \quad \begin{aligned} R_{n,\lambda}(x, a, b) &:= \frac{1}{n!} \left[(1 - \lambda) (\ln x - \ln a)^{n+1} \int_0^1 (1 - s)^n a^{1-s} x^s ds \right. \\ &\left. + (-1)^{n+1} \lambda (\ln b - \ln x)^{n+1} \int_0^1 s^n x^{1-s} b^s ds \right]. \end{aligned}$$

If we write the equality (2.13) for the function $f : \mathbb{R} \longrightarrow (0, \infty)$, $f(y) = \exp y$, we get for any $c, d \in \mathbb{R}$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(3.15) \quad \begin{aligned} \exp((1 - \lambda)c + \lambda d) &= (1 - \lambda) \exp c + \lambda \exp d \\ &+ \lambda(1 - \lambda) \sum_{k=1}^n \frac{1}{k!} \left[\lambda^{k-1} \exp c + (-1)^k (1 - \lambda)^{k-1} \exp d \right] (d - c)^k + T_{n,\lambda}(c, d), \end{aligned}$$

where

$$(3.16) \quad \begin{aligned} T_{n,\lambda}(c, d) &:= \frac{1}{n!} (d - c)^{n+1} \left[(1 - \lambda)^{n+2} \int_0^1 \exp((1 - s + \lambda s)c + (1 - \lambda)sd) (1 - s)^n ds \right. \\ &\left. + (-1)^{n+1} \lambda^{n+2} \int_0^1 \exp((1 - s)\lambda c + (1 - \lambda + \lambda s)d) s^n ds \right]. \end{aligned}$$

Let $x, a, b > 0$. If we take in (3.15) and (3.16) $y = \ln x$, $c = \ln a$ and $d = \ln b$, then we get for any $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(3.17) \quad \begin{aligned} a^{1-\lambda} b^\lambda &= (1 - \lambda) a + \lambda b \\ &+ \lambda(1 - \lambda) \sum_{k=1}^n \frac{1}{k!} \left[\lambda^{k-1} a + (-1)^k (1 - \lambda)^{k-1} b \right] (\ln b - \ln a)^k + T_{n,\lambda}(a, b), \end{aligned}$$

where

$$(3.18) \quad \begin{aligned} T_{n,\lambda}(a, b) &:= \frac{1}{n!} (\ln b - \ln a)^{n+1} \left[(1 - \lambda)^{n+2} \int_0^1 a^{1-s+\lambda s} b^{(1-\lambda)s} (1 - s)^n ds \right. \\ &\left. + (-1)^{n+1} \lambda^{n+2} \int_0^1 a^{(1-s)\lambda} b^{1-\lambda+\lambda s} s^n ds \right]. \end{aligned}$$

If $\lambda \in [0, 1]$ and $a, b > 0$ then we have from (3.17) that

$$(3.19) \quad 0 \leq (1 - \lambda)a + \lambda b - a^{1-\lambda}b^\lambda \\ = \lambda(1 - \lambda) \sum_{k=1}^n \frac{1}{k!} \left[(-1)^{k-1} (1 - \lambda)^{k-1} b - \lambda^{k-1} a \right] (\ln b - \ln a)^k - T_{n,\lambda}(a, b).$$

4. SOME INEQUALITIES

We have the following inequality:

Theorem 3. *Let $f : I \rightarrow \mathbb{R}$ be $(2m + 1)$ -time differentiable function on the interior \mathring{I} of the interval I and $f^{(2m+1)}$, with $m \geq 0$, be locally absolutely continuous on \mathring{I} . If $f^{(2m+2)}(t) \geq (\leq) 0$ for almost every $t \in \mathring{I}$, then for each distinct $x, a, b \in \mathring{I}$ and for any $\lambda \in [0, 1]$ we have*

$$(4.1) \quad f(x) \geq (\leq) (1 - \lambda)f(a) + \lambda f(b) \\ + \sum_{k=1}^{2m+1} \frac{1}{k!} \left[(1 - \lambda) f^{(k)}(a) (x - a)^k + (-1)^k \lambda f^{(k)}(b) (b - x)^k \right].$$

Proof. From Theorem 2 we have for each distinct $x, a, b \in \mathring{I}$ and for any $\lambda \in [0, 1]$ that

$$(4.2) \quad f(x) = (1 - \lambda)f(a) + \lambda f(b) \\ + \sum_{k=1}^{2m+1} \frac{1}{k!} \left[(1 - \lambda) f^{(k)}(a) (x - a)^k + (-1)^k \lambda f^{(k)}(b) (b - x)^k \right] \\ + S_{2m+1,\lambda}(x, a, b),$$

where the remainder $S_{2m+1,\lambda}(x, a, b)$ is given by

$$S_{2m+1,\lambda}(x, a, b) \\ := \frac{1}{(2m+1)!} \left[(1 - \lambda) (x - a)^{2m+2} \int_0^1 f^{(2m+2)}((1-s)a + sx) (1-s)^{2m+1} ds \right. \\ \left. + \lambda (b - x)^{2m+2} \int_0^1 f^{(2m+2)}((1-s)x + sb) s^{2m+1} ds \right].$$

If $f^{(2m+2)}(t) \geq (\leq) 0$ for almost every $t \in \mathring{I}$, then for each distinct $x, a, b \in \mathring{I}$ we have

$$\int_0^1 f^{(2m+2)}((1-s)a + sx) (1-s)^{2m+1} ds \geq (\leq) 0$$

and

$$\int_0^1 f^{(2m+2)}((1-s)x + sb) s^{2m+1} ds \geq (\leq) 0,$$

which implies that $S_{2m+1,\lambda}(x, a, b) \geq (\leq) 0$ for each distinct $x, a, b \in \mathring{I}$.

Using the identity (4.2) we deduce the desired result (4.1). \square

Corollary 3. *With the assumptions of Theorem 3 for the function $f : I \rightarrow \mathbb{R}$ then for each distinct $a, b \in \overset{\circ}{I}$ and for any $\lambda \in [0, 1]$ we have*

$$(4.3) \quad f((1-\lambda)a + \lambda b) \geq (\leq) (1-\lambda)f(a) + \lambda f(b) \\ + \lambda(1-\lambda) \sum_{k=1}^{2m+1} \frac{1}{k!} \left[\lambda^{k-1} f^{(k)}(a) + (-1)^k (1-\lambda)^{k-1} f^{(k)}(b) \right] (b-a)^k.$$

Remark 2. *If the function $f : I \rightarrow \mathbb{R}$ is twice differentiable convex (concave) on $\overset{\circ}{I}$ then for each distinct $x, a, b \in \overset{\circ}{I}$ and for any $\lambda \in [0, 1]$ we have from (4.1) that*

$$(4.4) \quad f(x) \geq (\leq) (1-\lambda)f(a) + \lambda f(b) + (1-\lambda)f'(a)(x-a) - \lambda f'(b)(b-x).$$

From (4.3) we have that

$$f((1-\lambda)a + \lambda b) \geq (\leq) (1-\lambda)f(a) + \lambda f(b) + \lambda(1-\lambda)[f'(a) - f'(b)](b-a)$$

that is equivalent to

$$(4.5) \quad \lambda(1-\lambda)[f'(b) - f'(a)](b-a) \\ \geq (\leq) (1-\lambda)f(a) + \lambda f(b) - f((1-\lambda)a + \lambda b)$$

for any $a, b \in \overset{\circ}{I}$ and for any $\lambda \in [0, 1]$.

We get from (3.2) and (3.3) for any $x, a, b > 0$ and $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(4.6) \quad \ln x = (1-\lambda)\ln a + \lambda \ln b \\ + \sum_{k=1}^{2m+1} \frac{1}{k} \left[(-1)^{k-1} (1-\lambda) \left(\frac{x}{a} - 1\right)^k - \lambda \left(1 - \frac{x}{b}\right)^k \right] \\ + U_{2m+1, \lambda}(x, a, b),$$

where the remainder $U_{2m+1, \lambda}(x, a, b)$ is given by

$$(4.7) \quad U_{2m+1, \lambda}(x, a, b) \\ := - \left[(1-\lambda)(x-a)^{2m+2} \int_0^1 \frac{(1-s)^{2m+1}}{((1-s)a + sx)^{2m+1}} ds \right. \\ \left. + \lambda(b-x)^{2m+2} \int_0^1 \frac{s^{2m+1}}{((1-s)x + sb)^{2m+1}} ds \right].$$

If $x, a, b > 0$ and $\lambda \in [0, 1]$, then $U_{2m+1, \lambda}(x, a, b) \leq 0$ and by (4.6) we get

$$(4.8) \quad \ln x \leq (1-\lambda)\ln a + \lambda \ln b \\ + \sum_{k=1}^{2m+1} \frac{1}{k} \left[(-1)^{k-1} (1-\lambda) \left(\frac{x}{a} - 1\right)^k - \lambda \left(1 - \frac{x}{b}\right)^k \right].$$

From (3.8) we have for any $a, b > 0$, $m \geq 0$ and $\lambda \in [0, 1]$ that

$$(4.9) \quad 0 \leq \ln \left(\frac{A_\lambda(a, b)}{G_\lambda(a, b)} \right) \\ \leq \lambda(1-\lambda) \sum_{k=1}^{2m+1} \frac{1}{k} \left[\frac{(-1)^{k-1} \lambda^{k-1}}{a^k} - \frac{(1-\lambda)^{k-1}}{b^k} \right] (b-a)^k,$$

where $A_\lambda(a, b) := (1 - \lambda)a + \lambda b$ is the weighted arithmetic mean and $G_\lambda(a, b) := a^{1-\lambda}b^\lambda$ is the weighted geometric mean. For $\lambda = \frac{1}{2}$ we recapture the arithmetic mean $A(a, b)$ and geometric mean $G(a, b)$, respectively.

By taking the exponential in (4.9) we have

$$(4.10) \quad 1 \leq \frac{A_\lambda(a, b)}{G_\lambda(a, b)} \leq \exp \left[\lambda(1 - \lambda) \sum_{k=1}^{2m+1} \frac{1}{k} \left[\frac{(-1)^{k-1} \lambda^{k-1}}{a^k} - \frac{(1 - \lambda)^{k-1}}{b^k} \right] (b - a)^k \right],$$

for any $a, b > 0$, $m \geq 0$ and $\lambda \in [0, 1]$.

In particular, we have

$$(4.11) \quad 1 \leq \frac{A(a, b)}{G(a, b)} \leq \exp \left[\frac{1}{4} \sum_{k=1}^{2m+1} \frac{1}{2^{k-1}k} \left[\frac{(-1)^{k-1} b^k - a^k}{a^k b^k} \right] (b - a)^k \right],$$

for any $a, b > 0$ and $m \geq 0$.

If we take in (4.10) $m = 0$, then we get

$$(4.12) \quad 1 \leq \frac{A_\lambda(a, b)}{G_\lambda(a, b)} \leq \exp \left[\lambda(1 - \lambda) \frac{(b - a)^2}{ab} \right]$$

for any $a, b > 0$ and $\lambda \in [0, 1]$.

We consider the *Kantorovich's constant* defined by

$$(4.13) \quad K(h) := \frac{(h+1)^2}{4h}, \quad h > 0.$$

The function K is decreasing on $(0, 1)$ and increasing on $[1, \infty)$, $K(h) \geq 1$ for any $h > 0$ and $K(h) = K\left(\frac{1}{h}\right)$ for any $h > 0$.

Using Kantorovich's constant we can write the inequality (4.12) as

$$(4.14) \quad 1 \leq \frac{(1 - \nu)a + \nu b}{a^{1-\nu}b^\nu} \leq \exp \left[4\nu(1 - \nu) \left(K\left(\frac{a}{b}\right) - 1 \right) \right]$$

for any $a, b > 0$ and $\lambda \in [0, 1]$. That has been obtained in [6].

In particular, we have [6]

$$(4.15) \quad 1 \leq \frac{A(a, b)}{G(a, b)} \leq \exp \left(K\left(\frac{a}{b}\right) - 1 \right)$$

for any $a, b > 0$.

Let $x, a, b > 0$ and $m \geq 0$. Then we get from (3.13) and (3.14) for any $\lambda \in \mathbb{R} \setminus \{0, 1\}$ that

$$(4.16) \quad \begin{aligned} x &= (1 - \lambda)a + \lambda b \\ &+ \sum_{k=1}^{2m+1} \frac{1}{k!} \left[(1 - \lambda)a (\ln x - \ln a)^k + (-1)^k \lambda b (\ln b - \ln x)^k \right] \\ &+ R_{2m+1, \lambda}(x, a, b), \end{aligned}$$

where the remainder $R_{2m+1,\lambda}(x, a, b)$ is given by

$$(4.17) \quad R_{2m+1,\lambda}(x, a, b) := \frac{1}{(2m+1)!} \left[(1-\lambda)(\ln x - \ln a)^{2m+2} \int_0^1 (1-s)^{2m+1} a^{1-s} x^s ds + \lambda(\ln b - \ln x)^{2m+2} \int_0^1 s^{2m+1} x^{1-s} b^s ds \right].$$

If $x, a, b > 0$, $m \geq 0$ and $\lambda \in [0, 1]$, then $R_{2m+1,\lambda}(x, a, b) \geq 0$ and by (4.16) we have

$$(4.18) \quad x \geq (1-\lambda)a + \lambda b + \sum_{k=1}^{2m+1} \frac{1}{k!} \left[(1-\lambda)a(\ln x - \ln a)^k + (-1)^k \lambda b(\ln b - \ln x)^k \right].$$

If $\lambda \in [0, 1]$ and $a, b > 0$, $m \geq 0$ then we have from (3.19) that

$$(4.19) \quad 0 \leq (1-\lambda)a + \lambda b - a^{1-\lambda} b^\lambda = \lambda(1-\lambda) \sum_{k=1}^{2m+1} \frac{1}{k!} \left[(-1)^{k-1} (1-\lambda)^{k-1} b - \lambda^{k-1} a \right] (\ln b - \ln a)^k - T_{2m+1,\lambda}(a, b),$$

where

$$(4.20) \quad T_{2m+1,\lambda}(a, b) := \frac{1}{m!} (\ln b - \ln a)^{2m+2} \left[(1-\lambda)^{2m+3} \int_0^1 a^{1-s+\lambda s} b^{(1-\lambda)s} (1-s)^{2m+1} ds + \lambda^{2m+3} \int_0^1 a^{(1-s)\lambda} b^{1-\lambda+\lambda s} s^{2m+1} ds \right].$$

Since $T_{2m+1,\lambda}(a, b) \geq 0$ if $\lambda \in [0, 1]$ and $a, b > 0$, $m \geq 0$, then from (4.19) we get

$$(4.21) \quad 0 \leq A_\lambda(a, b) - G_\lambda(a, b) \leq \lambda(1-\lambda) \sum_{k=1}^{2m+1} \frac{1}{k!} \left[(-1)^{k-1} (1-\lambda)^{k-1} b - \lambda^{k-1} a \right] (\ln b - \ln a)^k.$$

In particular, we have for any $a, b > 0$ and $m \geq 0$ that

$$(4.22) \quad 0 \leq A(a, b) - G(a, b) \leq \frac{1}{4} \sum_{k=1}^{2m+1} \frac{1}{2^{k-1} k!} \left[(-1)^{k-1} b - a \right] (\ln b - \ln a)^k.$$

If we take $m = 0$ in (4.21), then we get

$$(4.23) \quad 0 \leq A_\lambda(a, b) - G_\lambda(a, b) \leq \lambda(1-\lambda)(b-a)(\ln b - \ln a),$$

for any $a, b > 0$ and $\lambda \in [0, 1]$, that has been obtained in [6].

In particular, we have [6]

$$(4.24) \quad 0 \leq A(a, b) - G(a, b) \leq \frac{1}{4} (b-a)(\ln b - \ln a),$$

for any $a, b > 0$.

For other recent inequalities between the weighted arithmetic mean and geometric mean see [6]-[10], [15]-[17], [20]-[21] and [23].

REFERENCES

- [1] M. Akkouchi, Improvements of some integral inequalities of H. Gauchman involving Taylor's remainder. *Divulg. Mat.* **11** (2003), no. 2, 115–120.
- [2] G. A. Anastassiou, Taylor-Widder representation formulae and Ostrowski, Grüss, integral means and Csiszar type inequalities. *Comput. Math. Appl.* **54** (2007), no. 1, 9–23.
- [3] G. A. Anastassiou, Ostrowski type inequalities over balls and shells via a Taylor-Widder formula. *J. Inequal. Pure Appl. Math.* **8** (2007), no. 4, Article 106, 13 pp.
- [4] S. S. Dragomir, New estimation of the remainder in Taylor's formula using Grüss' type inequalities and applications. *Math. Inequal. Appl.* **2** (1999), no. 2, 183–193.
- [5] S. S. Dragomir and H. B. Thompson, A two points Taylor's formula for the generalised Riemann integral. *Demonstratio Math.* **43** (2010), no. 4, 827–840.
- [6] S. S. Dragomir, A Note on Young's Inequality, Preprint *RGMA Res. Rep. Coll.* **18** (2015), Art. 126. [<http://rgmia.org/papers/v18/v18a126.pdf>].
- [7] S. S. Dragomir, A note on new refinements and reverses of Young's inequality, Preprint *RGMA Res. Rep. Coll.* **18** (2015), Art. 131. [<http://rgmia.org/papers/v18/v18a131.pdf>].
- [8] S. Furuichi, Refined Young inequalities with Specht's ratio, *Journal of the Egyptian Mathematical Society* **20**(2012), 46–49.
- [9] S. Furuichi, On refined Young inequalities and reverse inequalities, *J. Math. Inequal.*, **5** (2011), 21–31.
- [10] S. Furuichi and N. Minculete, Alternative reverse inequalities for Young's inequality, *J. Math. Inequal.* **5** (2011), Number 4, 595–600.
- [11] H. Gauchman, Some integral inequalities involving Taylor's remainder. I. *J. Inequal. Pure Appl. Math.* **3** (2002), no. 2, Article 26, 9 pp. (electronic).
- [12] H. Gauchman, Some integral inequalities involving Taylor's remainder. II. *J. Inequal. Pure Appl. Math.* **4** (2003), no. 1, Article 1, 5 pp. (electronic).
- [13] D.-Y. Hwang, Improvements of some integral inequalities involving Taylor's remainder. *J. Appl. Math. Comput.* **16** (2004), no. 1-2, 151–163.
- [14] A. I. Kechriniotis and N. D. Assimakis, Generalizations of the trapezoid inequalities based on a new mean value theorem for the remainder in Taylor's formula. *J. Inequal. Pure Appl. Math.* **7** (2006), no. 3, Article 90, 13 pp. (electronic).
- [15] F. Kittaneh and Y. Manasrah, Improved Young and Heinz inequalities for matrix, *J. Math. Anal. Appl.*, **361** (2010), 262–269
- [16] F. Kittaneh and Y. Manasrah, Reverse Young and Heinz inequalities for matrices, *Linear Multilinear Algebra.*, **59** (2011), 1031–1037.
- [17] W. Liao, J. Wu and J. Zhao, New versions of reverse Young and Heinz mean inequalities with the Kantorovich constant, *Taiwanese J. Math.* **19** (2015), No. 2, pp. 467–479.
- [18] Z. Liu, Note on inequalities involving integral Taylor's remainder. *J. Inequal. Pure Appl. Math.* **6** (2005), no. 3, Article 72, 6 pp. (electronic).
- [19] W. Liu and Q. Zhang, Some new error inequalities for a Taylor-like formula. *J. Comput. Anal. Appl.* **15** (2013), no. 6, 1158–1164.
- [20] W. Specht, Zer Theorie der elementaren Mittel, *Math. Z.*, **74** (1960), pp. 91–98.
- [21] M. Tominaga, Specht's ratio in the Young inequality, *Sci. Math. Japon.*, **55** (2002), 583–588.
- [22] N. Ujević, Error inequalities for a Taylor-like formula. *Cubo* **10** (2008), no. 1, 11–18.
- [23] G. Zuo, G. Shi and M. Fujii, Refined Young inequality with Kantorovich constant, *J. Math. Inequal.*, **5** (2011), 551–556.

¹MATHEMATICS, SCHOOL OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO Box 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: sever.dragomir@vu.edu.au

URL: <http://rgmia.org/dragomir>

²SCHOOL OF COMPUTER SCIENCE & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA